Station 1 “Pythagorean Theorem”

Finding the missing side
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Station 2 “Pythaqgorean Triples”

A set of whole numbers a, b, and c that satisfy the equation
c’=a’+b’

Write True or False for the three numbers if the numbers
could form a triangle and then if the numbers are a
Pythagorean triple

1)9, 12, 15
2)6, 8, 14
3)8, 15, 17
4)5,5,9

5) 5, 12, 13



Station 3 “Classifying Triangles”

Right triangle when: ¢ = a® + b?

Obtuse triangle when: ¢* > a® +b?

Acute triangle when: ¢* < a® +b?

1)4,7, 10
2)12, 13, 14
3)8, 15, 17
4)8,8, 8,

5) 6, 6, 10

6)6, 6, 8




Station 4 “Right Isosceles Triangles 45-45-90 Triangle”

Theorem 8-5 45°-45°-90° Triangle Theorem

In a 45°-45°-90° triangle, both legs are congruent and the
length of the hypotenuse is V2 times the length of a leg.

hypotenuse = V2 - leg
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Station 5 “30-60-90 Triangles”

Theorem 8-6 30°-60°-90° Triangle Theorem

In a 30°-60°-90° triangle, the length of the hypotenuse
is twice the length of the shorter leg. The length of the

longer leg is V/3 times the length of the shorter leg. 2530 A3
hypotenuse = 2 - shorter leg €0°
.
longer leg = V3 - shorter leg s
Find the value of the variables
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Station 6 “Tangent”

tangent of LA = lcngth of ICE opposite 2 A

B
— length of leg adjacent to £ A Leg
opposite
— LA

A Leg adjacent C
to LA

1) Write the tangent ratios for <A and 4B
B
TanLA=—— %j 5
Tan£B =——- A 3 C

Find the value of x
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Station 7 “Sine”

leg opposite £ A

sine of 2L A =

hypotenuse B
Hypotenuse Leg
opposite
A oo adiac
eg adjacent
to LA

1) Write the sine ratios for L. and £M

25 M
Sin/L=—— L
7 24
K

SnZAM = ——
Find the value of x
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Station 8 “Cosine”

leg adjacent to 2 A
hypotenuse

cosine of LA = B

Leg
opposite
LA

Hypotenuse

A Leg adjacent

to LA

1) Write the cosine ratios for <L ana £vi

2
Cos/ZL=—- L > M
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Cos/ZAM =——
Find the value of x
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Station 9 “Solve the Right Triangle”

For solving angles of a right triangle use:

1. Triangle Sum theorem m£A + m«ZB + m£C = 180°
2. Change ratio to a decimal then look up the decimal on the table
or use the inverse function of the trig function.
For solving sides of a right triangle use:
1. Use Pythagorean Theorem c° =a® +b?
2. Use Trig Formulas

Find the measurement of LA, 4B, £C, AB, BC, and CA
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